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ISR - A - papiel ISR - A - Pap:E)
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) A A — IR 8:45 % 39 (39) 2 — IR 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 11 953874 Fix Kfk R SEED 1:21.95 1:23.62 2:45.57
2 12 953875 phE  HiLs N — 1:24.60 1:26.88 2:51.48
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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aA— ATy H— wlE HE [Z5] a— ATy H— NI T —RR
ISR - A - papiel ISR - A - fHiE
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) 2K — R 8:45 % 39 (39) 2K — R 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NERE Ap=b =N B - 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf ] AA 2k
1 19 937686 & Eey = UL 1:16.25 1:17.31 2:33.56
2 20 947713  {FIH HkAE A I %2 1:22.47 1:21.44 2:43.91
3 21 931031 Ak FEH gl £ SC 1:24.30 1:23.60 2:47.90
4 22 947434 ER O RE N 44 #0SC 1:23.73 1:25.56 2:49.29
5 23 931028 G AFjEE = N 1:30.15 1:34.40 3:04.55
6 25 931026 &5 Iz gl NN 1:32.76 1:35.36 3:08.12
724 931027 #KIE ZHEHT gl NN 1:42.03 1:40.26 3:22.29
DID NOT START [1st RUN] 1
26 939752 M FEA 5N =97V
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1
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DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 0

DISQUALIFIED [2nd RUN] 0
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TIMING by SET KO
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ISR - A - papiel ISR - A - Pap:E)
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) 2K — R 8:45 % 39 (39) 2K — R 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
1 37 948596 HET ML A EA SEED 1:12.92 1:14.86 2:27.78
2 39 953398 phE AU A —E 1:15.72 1:18.50 2:34.22
3 38 932067 KL AR N hH A% 1:16.35 1:18.05 2:34.40
4 40 953430 K& HTWL gl £ SC 1:22.94 1:27.77 2:50.71
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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DISQUALIFIED [2nd RUN] 0
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DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
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ISR - A - papiel ISR - A - fHiE
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) A — 8:45 % 39 (39) 2 — IR 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 A N = 1L L I 5 H%E fil A b
1 67 920822 )= FEe+ [=RLNE 1:17.31 1:19.45 2:36.76
2 69 953428 E i+ 1o A 1:19.51 1:21.35 2:40.86
DID NOT START [1st RUN]
68 923991 &k 4= 15 A 3E

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



